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QID : 201 - In the following question, select the related word from the given alternatives.
Punjab : Bhangra: : Gujarat : ?

Options.

1) Bihu

2) Garba

3) Ghumar

4) Kathak

Correct Answer: Garba

QID : 202 - In the following question, select the related word from the given alternatives.
Wesak : Feeble: : Large: ?

Options.

1) Strong

2) Insignificant

3) Colossal

4) Teeny

Correct Answer: Colossal

QID : 203 - In the following question, select the related letters from the given alternatives.

INQV : JPTZ:: HNSG: ?
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Options.
1) IPVK

2) PIVK
3) IPKV

4) IRVK
Correct Answer: IPVK

QID : 204 - In the following question, select the related letters from the given alternatives.
GHIJ: HJL : : NOPQ : ?

Options.
1) OQQS

2) 0SSQ
3) PPRS

4) OQSQ
Correct Answer: OQQS

QID : 205 - In the following question, select the related number from the given alternatives.
6:216::5:7

Options.
1) 125

2) 50
3) 75

4) 150
Correct Answer: 125

QID : 206 - In the following question, select the related number from the given alternatives.
107 : 11449:: 106 : ?

Options.
1) 10636

2) 11206
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3) 11236

4) 11272
Correct Answer: 11236

QID : 207 - In the following question, select the odd word from the given alternatives.

Options.

1) Walls

2) Doors

3) Floor

4) Foundation

Correct Answer: Foundation

QID : 208 - In the following question, select the odd word pair from the given alternatives.

Options.

1) Clouds : Rain

2) Injury : Pain

3) Boiling : Evaporation

4) Freezing : Cold

Correct Answer: Freezing : Cold

QID : 209 - In the following question, select the odd letters from the given alternatives.

Options.

1) DU

2) KP

3K

4) GT

Correct Answer: DU

QID : 210 - In the following question, select the odd letters from the given alternatives.

Options.

1) IM

2) DH

3) MS

4) UY

Correct Answer: MS

QID : 211 - In the following question, select the odd number pair from the given alternatives.

Options.
1) 121 -196
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2) 441 - 484

3) 25-36

4) 169 — 196
Correct Answer: 121 — 196

QID : 212 - In the following question, select the odd number pair from the given alternatives.

Options.
1) 47-74

2) 4996
3) 63-36

4) 97 -79

Correct Answer: 49 —96

QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Prayer
2. Plane
3. Prey

4. Predate
5. Picture
Options.
1) 51234
2) 51243
3) 52143

4) 52134

Correct Answer: 52143

QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Temple
2. Trained
3. Training
4. Troupe
5. Tented
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Options.
1) 15234

2) 15243
3) 15432

4) 14532
Correct Answer: 15234

QID : 215 - A seriesis given with one term missing. Select the correct alternative from the given
ones that will complete the series.

BD, CE, DF, EG, ?

Options.
1) FG

2) DH
3) FH

4) EH
Correct Answer: FH

QID : 216 - A seriesis given with one term missing. Select the correct alternative from the given
ones that will complete the series.

AVA, BUC, CTE, ?

Options.
1) DVG

2) DSF
3) DSG

4) GSD
Correct Answer: DSG

QID : 217 - In the following question, select the missing number from the given series.
84,42, 28, 21, ?

Options.
1) 10.5
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2) 16.8
3) 18.4

4) 19.6
Correct Answer: 16.8

QID : 218 - In the following question, select the missing number from the given series.
2.2,14.8, 40,904, ?

Options.
1) 191.2

2) 194.4
3) 196.2

4) 208.4
Correct Answer: 191.2

QID : 219 - Raman remembers that the examination is after 15th May but before 18th May,
while Deep remembers that the examination is before 21st May but after 16th May. On which
date of May is the examination?

Options.

1) 17

2) 18

3) 19

4) 20

Correct Answer: 17

QID : 220 - In aclass of 42 students, Swati's rank is 19th from the bottom. Purshottam is 6 ranks
below Swati. What is Purshottam's rank from the top?

Options.

1) 30th

2) 32nd

3) 33rd

4) 34th

Correct Answer: 30th

QID : 221 - Pointing to alady in the photograph Amit said,” She is the mother of the only
grandson of my mother . How is the lady related to Amit?
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Options.

1) Mother

2) Daughter

3) Niece

4) Wife

Correct Answer: Wife

QID : 222 - In the following question, select the word which cannot be formed using the letters
of the given word.

CAPABILITIES

Options.
1) PLATE

2) PLIABLE
3) PALATE

4) PAYABLE
Correct Answer: PLIABLE

QID : 223 - In the following question, select the word which cannot be formed using the letters
of the given word.

CARBONATE

Options.
1) CARBON

2) BORN
3) EARN

4) BOSE
Correct Answer: BOSE

QID : 224 - In acertain code language, "SOULFUL" iswritten as"ORIIXLV" and "GATHER"
iswritten as"OHEWXJ'. How is"TIDAL" written in that code language?

Options.
1) IDALQ

2) WFGXO

3) OXGFW
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4) QLADI
Correct Answer: OXGFW

QID : 225 - In acertain code language, "PLATE" iswritten as"32876" and "BLEND" iswritten
as"52694". How is"DENTED" written in that code language?

Options.
1) 869768

2) 295329
3) 469764

4) 538635
Correct Answer: 469764

QID : 226 - In the following question, by using which mathematical operators will the
expression become correct?

6973?27?973

Options.

1)+, — >and x

2) +, +, <and x

3) +, — =and x

4) x, +, <and x

Correct Answer: +, +, <and x

QID : 227 - In the following question, by using which mathematical operators will the
expression become correct?

973767874

Options.

1) — %, =and x

2)+, +,>and +

3) +, x, <and x

4) x, +, <and x

Correct Answer: +, x, < and x

QID:228-1f1$9&5=14and2& 4$3=-41,then7$9& 9="7
Options:

1) 72

2) 70

3) 68

4) 64

Correct Answer: 70

QID:229-1f8* 9#3=51and12* 6#4=72,then13* 11#6="7
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Options:

1) 156

2) 128

3) 136

4) 144

Correct Answer: 144

QID : 230-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Tafofg vy & o or Reeut § 8 uy e
(?) & FUE T AT arell FEAT BT T

3 4 2
7 5 1
8 6 3
? 54 9

Options:

1) 60

2) 70

3) 75

4) 80

Correct Answer: 80

QID: 231-
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In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

foreaafag uw # By o7 oear § T o e
(?) & TUE W A arell &I & AT

5 1 3 7
2 4 4
1 ? 2 7
Options.
13
2) 4
3)5
4) 6

Correct Answer: 6

QID: 232-
How many triangles are there in the given figure?

& o Y # fraa Mg ¥2

B .r"'f/
-
_,,ﬁ"f ,\\ i
L~ \“\
Options:
1) 18
2) 20
3) 22
4) 24

Correct Answer: 22
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QID: 233-
How many triangles are there in the given figure?

& g APl A fordaar Mg €2

Options.

1)8

2) 10

3) 12

4) 16

Correct Answer: 12

QID : 234 - In each of the following question below are given some statements followed by
some conclusions. Taking the given statements to be true even if they seem to be at variance
from commonly known facts, read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some knifes are spoons.

I1. Some forks are knifes.

[11. No fork isagreen.

Conclusions:

|. Some spoons are forks.

I1. Some knifes are green.

[11. Some green are not knifes.

V. Some knifes are not green.

Options.

1) Only conclusion (1V) follows

2) Only conclusion (111) follows

3) Only conclusion (111) and (I) follow

4) Only conclusion (1) and (I1) follow

Correct Answer: Only conclusion (1V) follows

QID : 235 - In each of the following question below are given some statements followed by
some conclusions. Taking the given statements to be true even if they seem to be at variance
from commonly known facts, read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
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|. Some mangoes are not red.

[1. All red are raw.

I11. Some raw are mangoes.
Conclusions:

|. Some mangoes are not raw.

I1. Some red are not mangoes.

[11. All raw arered.

Options:

1) Only conclusion (I) follows

2) Only conclusion (11) and (111) follow
3) Only conclusion (1) and (I11) follow
4) No conclusion follows

Correct Answer: No conclusion follows

QID : 236 -
Two position of a cube are shown below. What will

come opposite to face containing ‘57

@ v ue Y g HaTuw g i ¥ 5w
Foleh o faudla Far e

Options:

16

2)4

3)6o0r3

4) 3

Correct Answer: 6

QID : 237-
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#rr U e f i FarurT ST i E

Which numbers will come on two faces marked ‘A
and B?

‘A FUT B’ 3T a1 olr! O HlF T 3F HTI?

¢ |®

Options:

1)4and3

2)4and 5

3)2and 5

4) 2and 4

Correct Answer: 2 and 5

QID : 238-
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In the given figure, which number/numbers represent
papers which are books?

& 7% apia A, Pl WA FF MW F AN gEIS
€ @ e WEr

Academic/HFIEHE

Options:

1)2and 3

2)2and5

3)3and 4

4) Only 2

Correct Answer: 2and 3

QID : 239-
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In the given figure, which number represents pens
which are black but not red?

& 7 R #, BT W 3 1Y o 5 F E
Aftre s a& € @ gefar &2

Black/&rell —» 3

Options:

14

2)5

3) 6

4) 3

Correct Answer: 4

QID : 240-

COURTESY : SSC


https://sscportal.in/
https://sscportal.in/

In the given figure, how many pages are either new or
white but not both?

Amyplad R eva o adt ok &
Aftre et T8 &7

ﬁ’_\/f”’_“‘"\x

New/ f 19 43\ Pagas!

G \ EF'””\?"
’51/@;)/
_x’
White/at%hg
Options.
1) 111
2) 100
3) 125
4) 168
Correct Answer: 100
QID: 241 -
Which answer figure will complete the pattern in the
guestion figure?

®id W 3 ATHA T HHiad & Uasq H g
&Yefr?
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Options:

1)

Correct Answer:

QID : 242-
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Which answer figure will complete the pattern in the

question figure?

Fia H 39X ATHA UH HATpia & Ufasa & g

FHLAT?

Options:

g’

o

Y

NG

\L

rect Answer:

[
=]
=

n

QID : 243-

=)

i

?
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From the given answer figures, select the one in which
the question figure is hidden/embedded.

& 7 39X FgEE # ¥ 3§ =X e & gRw

o & wy sl BfT &

Options:
1)

2)

3)

4)

LIL

Llé

QID : 244-

koYl

Correct Answer:
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From the given answer figures, select the one in which
the question figure is hidden/embedded.

& ¢ e HgpaEl & ¥ 3§ 3 HgE o gET
oa & wy sl BT &

b

N

QID : 245-

COURTESY : SSC


https://sscportal.in/
https://sscportal.in/

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d@=r & Uy Hgpfadr # @ dgEr e &
Az T U Wiee & a€ d% OFH 39T A
Sar s Eame

P

oo
o0
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Options:

1)

Qo
Q0

2)

[ =
oo

3)

4)

oo
Q0

Correct Answer:

Qo
Q0

QID : 246 -
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A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened?

@ F uy wpfadl # REw e s @
AIEHT B T Wod & 9¢ 78 P 39T Ag

Star fears 2o

&2

=
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o
=1
g
7

v

&
(e

v

A

P
L]

v

F-9
Io

v

&

&

r

A
Io

v

v

L.

v
&

4 4p

v
&

Correct Answer:

v
F-9
v
a

QID : 247 -
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If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given

figure?

ofe oF Zaur & AB @ W @ AW, & & T
X Wl # ¥ St O gy iy gty &

TEr uiafesa gefre
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Options:
1)

2)

3)

4)

) =) 9 |

Correct Answer:

Eﬂﬂ

QID : 248 -
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If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg T ZUUT F AB IE@T T T@r A, & & oS
AT FEOar # ¥ Pl W HEa U HEg o

TE ufafasa 2efre

Options:
1)

¢

2)

%

3)

*

4)

o

Correct Answer:

1+

¢’
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QID : 249 -

A word is represented by only one set of numbers as given in any one of
the altematives The sets of numbers given in the allematives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these mainces can
be represented first by its row and nexd by its column, for example, ‘H' can
be represented by 00, 24, efc., and ‘L’ can be represented by 56, 98 etc.
Similarly, you have to identify the sel for the word “HALT"

UE e FAW UF HEA-HAF GW gurn e B, S B Reed & @
frht v & R o k) Rt @ B o geawsp a5 oot
wrT guie aw € S B e oaw @) wegpl A b o F W iR
afi & FEw 0 & 4 % R gl 153 9) 53 g F UF e A
ued 3w ufes R @ # woew awm g cutn S @war Bl s
& faw W @00, 24, wfE g el s wwar & aw L @ 56, 98,
nfE grr g @ wwan B s oRE & 3@ uw A R weg “HALT
¥ v @gg B ggmaa B

Matrix-1 Matrix-ll
L el
o[1]2[3[4 s|6|7]|8]9
O[H|G|T[T|N S|E[L[X]B]A
1JI[N]JH|G]|T 6|AJE|L|X]B
Z|G|T|T|N[H 7T|C|BJE[ATX
INJH|G|T]I B|X|A|BJE]|L
4|T]I|NJH]|G 9|B|X|A|JLIJE
Options:
1) 31, 59, 68, 21
2) 43, 86, 99, 40

3) 24, 78, 56, 02
4) 12, 97, 88, 33
Correct Answer: 24, 78, 56, 02

QID : 250 -
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A word is represented by only one set of numbers as given in any one of
the allematives The sets of numbers given in the allematives are
represented by two dasses of alphabets as shown in he gven hwo
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5to 9. A letter from these matrices can
be represented first by its riow and next by its colurn, for example, ‘K’ can
be represented by 10, 41, efc., and ‘N’ can be represented by 56, 97, elc.
Similarly, you have to identify the set for the word “TREND"

UE WeE ¥UE Wh AE-AAp e gt mn b St @ Reedt & @
fodh v & e & Reedt & R v gem-aep set & & avt
ar gute oo B, Qe B Re o Q) smegpl A B g B owew i
ofts # s 0 A 4 % T swegpdl $1 5 F 91 57 S ¥ 0w eR B
or 3T oft R @ & TEew SEan g sl e wwar # S
F faw K- 10, 41, nfE g zuvar = @Far & 3w N* @Y 56, 07,
Wi o1 guim @ @ B s Gt @ e uw A Ru owe
“TREND" & faw @ep @ apawen &

Matrix-| Matrix-Il
£ () el
O[T [2[3([4 5]6[7[B|9

O[A[R[T|E[K SISIN[D[L[T

1T [K[ATE[R]|T BIN|L|S|[T|D

ZIR[T[A[K|E TID|ITIL[N[S

I|TIEIK[IAIR B[L[S|[T|D|N

{[E[K[R[T[A B|T(D[N[S|T

Options:

1) 14, 13,12, 65, 76

2) 43, 42, 40, 78, 88

3) 21, 34, 24,57, 95

4) 30, 01, 31, 97, 59

Correct Answer: 43, 42, 40, 78, 88
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